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int i;
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for (=0} i <100} fi+) {
L printf(“ ==== ¥n”);
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for (=0} i< 100[i#4) {

printf(“%d ¥n”,i);
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inti, j;

for (i=0;i<5;i++) {
for (j=0;j < 5;j++){
printf(“i = %d, j = %d ¥n”, i, j);
}
}

« #BUIRLDOBYRL

— EOBITIE, printf [Z25EIETSNS.

while

* while
—for M55, FHHIEETLAGNED

i=0;
for (i = 0;i < 10; i++) { while (i < 10) {
I EATERSD I* EITES
} i++;
}
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do{
printf(“IED#ZE A AL TIZELN. ¥n”);
scanf(“%d”, &a);

} while(a <= 0);
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i++ — i=i+1
++j - i=i+1
i-- - i=i-1
-l - i=i-1
i+=2 — i=i+2
i-=2 — i=i-2
i*=2 - i=i*2
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1 %=2 — i=i%2
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int a, b;
int i=0;
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b=++i; bl2, ilX21<73%.
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8 1000 8 1000 8
9 1001 9 1001 9
10 1010 10 1010
11 1011 11 1011
12 1100 12 1100
13 1101 13 1101
14 1110 14 1110
15 1111 15 1111
: 25 Hl AL 45 eys S e
printf3X. S tERER SHFEATZRE
0 0000 0
16:EE$ TREL: 1 0001 1 B
=58 "%x" 2 0010 2 ¢ fﬁ;FUJgL’
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int a=0, b=0;
int i=0;
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a=a*8; HERIL 2

« printf EHEEER
printf(“ %f ”,a);
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